Dividing by 10 )—

e the onlq division method to divide the following Wi1th&ut remainders
100 =10 = d. 90 + 10 =
108 = 9 = e 1Mo =10 =

Ol 10 = f 50 =10 =
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Dividing by 10 )7

Use the onLJ division method to divide the following without remainders

100 +10=_ 10 d. 90:10=_9
10
100 :
- 104 10l 90
0 . 90
0 So0,100 410 =10 0
0 S0,90 =10 = 9

mng-9=_ 12 e Nol=10 = 1
12 11
120 10l 110
. 104 - 10l
20 0
20| S0/120 =10/=1 1 0| Solno=nok1
0 0
60+10= 4 £ 50102 5
6 5
5 0 10| 50
50 50
0O O
So/36+9=4 0,50+10=5
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